

## 1. BID TABULATION

PROJECT NAME: SLAUSON AVENUE CORRIDOR IMPROVEMENT I-5 TO I-710 AND ATP CYCLE 6 IMPROVEMENTS AT VARIOUS LOCATIONS PROJECT

BID TABULATION			Apparent Low Bidder 1		Apparent Low Bidder 2		Apparent Low Bidder 3		AVERAGE BID VALUES		LOWEST UNIT BID PRICE	HIGHEST UNIT BID PRICE	
			All American Asphalt		Excel Paving		C.A Rasmussen, Inc						
Bid Item and Description		Qty	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
<b>BASE BID SCHEDULE A</b>													
1	TRAFFIC SIGNAL IMPROVEMENTS FOR EASTERN AVE & SLAUSON AVE	1	LS	\$79,990.75	\$79,990.75	\$78,000.00	\$78,000.00	\$85,370.00	\$85,370.00	\$81,120.25	\$81,120.25	\$78,000.00	\$85,370.00
2	TRAFFIC SIGNAL IMPROVEMENTS FOR ALEXANDER ST & SLAUSON AVE	1	LS	\$700,000.00	\$700,000.00	\$657,000.00	\$657,000.00	\$725,530.00	\$725,530.00	\$694,176.67	\$694,176.67	\$657,000.00	\$725,530.00
3	TRAFFIC SIGNAL IMPROVEMENTS FOR ZAMBRANO ST & SLAUSON AVE	1	LS	\$700,000.00	\$700,000.00	\$749,000.00	\$749,000.00	\$826,970.00	\$826,970.00	\$758,656.67	\$758,656.67	\$700,000.00	\$826,970.00
4	TRAFFIC SIGNAL IMPROVEMENTS FOR BOXFORD AVE & SLAUSON AVE	1	LS	\$700,000.00	\$700,000.00	\$732,000.00	\$732,000.00	\$809,290.00	\$809,290.00	\$747,096.67	\$747,096.67	\$700,000.00	\$809,290.00
5	TRAFFIC SIGNAL IMPROVEMENTS FOR MALT AVE & SLAUSON AVE	1	LS	\$700,000.00	\$700,000.00	\$845,000.00	\$845,000.00	\$934,900.00	\$934,900.00	\$826,633.33	\$826,633.33	\$700,000.00	\$934,900.00
6	TRAFFIC SIGNAL IMPROVEMENTS FOR GARFIELD AVE & SLAUSON AVE	1	LS	\$738,000.00	\$738,000.00	\$978,000.00	\$978,000.00	\$1,084,620.00	\$1,084,620.00	\$933,540.00	\$933,540.00	\$738,000.00	\$1,084,620.00
7	TRAFFIC SIGNAL IMPROVEMENTS FOR TRIANGLE DR & SLAUSON AVE	1	LS	\$700,000.00	\$700,000.00	\$712,000.00	\$712,000.00	\$787,070.00	\$787,070.00	\$733,023.33	\$733,023.33	\$700,000.00	\$787,070.00
8	TRAFFIC SIGNAL IMPROVEMENTS FOR GREENWOOD AVE & SLAUSON AVE	1	LS	\$650,000.00	\$650,000.00	\$798,000.00	\$798,000.00	\$884,820.00	\$884,820.00	\$777,606.67	\$777,606.67	\$650,000.00	\$884,820.00
9	TRAFFIC SIGNAL IMPROVEMENTS FOR GAGE AVE & SLAUSON AVE	1	LS	\$20,000.00	\$20,000.00	\$19,000.00	\$19,000.00	\$20,690.00	\$20,690.00	\$19,896.67	\$19,896.67	\$19,000.00	\$20,690.00
10	INSTALL TEMPORARY TRAFFIC SIGNAL POLE PER CALTRANS STANDARD PLAN ES-18C	10	EA	\$4,500.00	\$45,000.00	\$7,000.00	\$70,000.00	\$7,500.00	\$75,000.00	\$6,333.33	\$63,333.33	\$4,500.00	\$7,500.00
11	INSTALL TEMPORARY TRAFFIC SIGNAL POLE PER CALTRANS STANDARD PLAN ES-18D	14	EA	\$4,500.00	\$63,000.00	\$7,000.00	\$98,000.00	\$7,500.00	\$105,000.00	\$6,333.33	\$88,666.67	\$4,500.00	\$7,500.00
	<b>Sub Total</b>				<b>\$5,095,990.75</b>		<b>\$5,736,000.00</b>		<b>\$6,339,260.00</b>		<b>\$5,723,750.25</b>	<b>\$4,951,000.00</b>	<b>\$6,174,260.00</b>
<b>SIGNING &amp; STRIPING IMPROVEMENTS</b>													
12	REMOVE PAVEMENT MARKING	92	EA	\$110.00	\$10,120.00	\$120.00	\$11,040.00	\$186.00	\$17,112.00	\$138.67	\$12,757.33	\$110.00	\$186.00
13	REMOVE PAVEMENT STRIPING	51,505	LF	\$2.50	\$128,762.50	\$3.00	\$154,515.00	\$4.20	\$216,321.00	\$3.23	\$166,532.83	\$2.50	\$4.20
14	REMOVE & SALVAGE EXISTING SIGN & POST	1	EA	\$180.00	\$180.00	\$185.00	\$185.00	\$301.00	\$301.00	\$222.00	\$222.00	\$180.00	\$301.00
15	REMOVE & SALVAGE EXISTING SIGN PANEL	20	EA	\$50.00	\$1,000.00	\$52.00	\$1,040.00	\$85.00	\$1,700.00	\$62.33	\$1,246.67	\$50.00	\$85.00
16	RELOCATE SIGN PANEL AND/OR POST	8	EA	\$280.00	\$2,240.00	\$285.00	\$2,280.00	\$470.00	\$3,760.00	\$345.00	\$2,760.00	\$280.00	\$470.00
17	INSTALL SIGN PANEL & POST	50	EA	\$425.00	\$21,250.00	\$430.00	\$21,500.00	\$716.00	\$35,800.00	\$523.67	\$26,183.33	\$425.00	\$716.00
18	INSTALL SIGN PANEL	47	EA	\$200.00	\$9,400.00	\$210.00	\$9,870.00	\$336.00	\$15,792.00	\$248.67	\$11,687.33	\$200.00	\$336.00
19	INSTALL SIGN ON MAST ARM	10	EA	\$750.00	\$7,500.00	\$760.00	\$7,600.00	\$1,262.00	\$12,620.00	\$924.00	\$9,240.00	\$750.00	\$1,262.00
20	INSTALL PAVEMENT STRIPING	42,000	LF	\$2.00	\$84,000.00	\$2.14	\$89,880.00	\$3.00	\$126,000.00	\$2.38	\$99,960.00	\$2.00	\$3.00
21	INSTALL PAVEMENT MARKING	68	EA	\$250.00	\$17,000.00	\$253.00	\$17,204.00	\$421.00	\$28,628.00	\$308.00	\$20,944.00	\$250.00	\$421.00
22	PAINT/REFRESH RED CURB	7,400	LF	\$2.00	\$14,800.00	\$2.15	\$15,910.00	\$3.40	\$25,160.00	\$2.52	\$18,623.33	\$2.00	\$3.40
	<b>Sub Total</b>				<b>\$296,252.50</b>		<b>\$331,024.00</b>		<b>\$483,194.00</b>		<b>\$370,156.83</b>	<b>\$2,251.50</b>	<b>\$3,787.60</b>
<b>MEDIAN IMPROVEMENTS</b>													
23	UNCLASSIFIED EXCAVATION	6,500	CY	\$153.00	\$994,500.00	\$149.00	\$968,500.00	\$212.00	\$1,378,000.00	\$171.33	\$1,113,666.67	\$149.00	\$212.00
24	AC PAVEMENT	68	TON	\$720.00	\$48,960.00	\$985.00	\$66,980.00	\$374.00	\$25,432.00	\$693.00	\$47,124.00	\$374.00	\$985.00
25	LEVELING COURSE	34	TON	\$720.00	\$24,480.00	\$560.00	\$19,040.00	\$250.00	\$8,500.00	\$510.00	\$17,340.00	\$250.00	\$720.00
26	CRUSHED MISCELLANEOUS BASE	1,315	CY	\$50.00	\$65,750.00	\$230.00	\$302,450.00	\$740.00	\$973,100.00	\$340.00	\$447,100.00	\$50.00	\$740.00
27	PAVING MAT/FABRIC	3,301	SF	\$2.65	\$8,747.65	\$2.00	\$6,602.00	\$4.00	\$13,204.00	\$2.88	\$9,517.88	\$2.00	\$4.00
28	CONSTRUCT PCC PAVEMENT	1,830	CY	\$1,450.00	\$2,653,500.00	\$620.00	\$1,134,600.00	\$929.00	\$1,700,070.00	\$999.67	\$1,829,390.00	\$620.00	\$1,450.00
29	CONSTRUCT 6" CURB PER SPPWC STANDARD PLAN 120-3 OVER 95% COMPACTED NATIVE	4,800	LF	\$75.00	\$360,000.00	\$95.00	\$456,000.00	\$44.00	\$211,200.00	\$71.33	\$342,400.00	\$44.00	\$95.00

## 1. BID TABULATION

## PROJECT NAME: SLAUSON AVENUE CORRIDOR IMPROVEMENT I-5 TO I-710 AND ATP CYCLE 6 IMPROVEMENTS AT VARIOUS LOCATIONS PROJECT

BID TABULATION			Apparent Low Bidder 1		Apparent Low Bidder 2		Apparent Low Bidder 3		AVERAGE BID VALUES		LOWEST UNIT BID PRICE	HIGHEST UNIT BID PRICE	
			All American Asphalt		Excel Paving		C.A Rasmussen, Inc						
Bid Item and Description		Qty	Unit	Unit Price	Total Price	Unit Price	Total Price						
30	CONSTRUCT 6" CURB PER SPPWC STANDARD PLAN 120-3 WITH #4 DOWELS (MINIMUM LENGTH 8") SPACED @ 48" O.C. AND SHALL BE EMBEDDED AND EXPOXIED 6" MINIMUM INTO EXISTING PAVEMENT PER DETAIL A ON SHEET 3	4,860	LF	\$72.00	\$349,920.00	\$43.00	\$208,980.00	\$70.00	\$340,200.00	\$61.67	\$299,700.00	\$43.00	\$72.00
31	CONSTRUCT 8" CURB PER SPPWC STANDARD PLAN 120-3 OVER 95% COMPACTED NATIVE	99	LF	\$80.00	\$7,920.00	\$83.00	\$8,217.00	\$70.00	\$6,930.00	\$77.67	\$7,689.00	\$70.00	\$83.00
32	CONSTRUCT 8" CURB PER SPPWC STANDARD PLAN 120-3 WITH #4 DOWELS (MINIMUM LENGTH 8") SPACED @ 48" O.C. AND SHALL BE EMBEDDED AND EXPOXIED 6" MINIMUM INTO EXISTING PAVEMENT PER DETAIL A ON SHEET 3	184	LF	\$77.00	\$14,168.00	\$52.00	\$9,568.00	\$85.00	\$15,640.00	\$71.33	\$13,125.33	\$52.00	\$85.00
33	RESTORE IMPACTED LANDSCAPE & IRRIGATION AS NEEDED, WHERE APPLICABLE	1	LS	\$15,000.00	\$15,000.00	\$19,000.00	\$19,000.00	\$12,190.00	\$12,190.00	\$15,396.67	\$15,396.67	\$12,190.00	\$19,000.00
	<b>Sub Total</b>				<b>\$4,542,945.65</b>		<b>\$3,199,937.00</b>		<b>\$4,684,466.00</b>		<b>\$4,142,449.55</b>	<b>\$13,844.00</b>	<b>\$23,446.00</b>
<b>LANDSCAPING</b>													
34	EARTHWORK	1	LS	\$350,000.00	\$350,000.00	\$175,000.00	\$175,000.00	\$5,220.00	\$5,220.00	\$176,740.00	\$176,740.00	\$5,220.00	\$350,000.00
35	REMOVE EXISTING TREES	1	LS	\$70,000.00	\$70,000.00	\$239,000.00	\$239,000.00	\$72,160.00	\$72,160.00	\$127,053.33	\$127,053.33	\$70,000.00	\$239,000.00
<b>SITE AMENITIES</b>													
36	CAL TRANS BLANKET (MEDIAN NOSE)	8,865	SF	\$28.00	\$248,220.00	\$42.00	\$372,330.00	\$45.00	\$398,925.00	\$38.33	\$339,825.00	\$28.00	\$45.00
37	PEA SWALE (MEDIAN)	4,490	SF	\$14.00	\$62,860.00	\$17.00	\$76,330.00	\$16.00	\$71,840.00	\$15.67	\$70,343.33	\$14.00	\$17.00
38	18" WIDE STAMPED CONCRETE MAINTENANCE BAND	6,871	SF	\$33.00	\$226,743.00	\$38.00	\$261,098.00	\$83.00	\$570,293.00	\$51.33	\$352,711.33	\$33.00	\$83.00
<b>IRRIGATION</b>													
39	AUTOMATIC IRRIGATION – MEDIAN	1	LS	\$396,000.00	\$396,000.00	\$598,000.00	\$598,000.00	\$378,740.00	\$378,740.00	\$457,580.00	\$457,580.00	\$378,740.00	\$598,000.00
40	BUBBLER SET – MEDIAN	107	ST	\$275.00	\$29,425.00	\$360.00	\$38,520.00	\$434.00	\$46,438.00	\$356.33	\$38,127.67	\$275.00	\$434.00
41	AUTOMATIC IRRIGATION CONTROLLER & SOLAR SYSTEM	5	EA	\$25,000.00	\$125,000.00	\$39,000.00	\$195,000.00	\$54,520.00	\$272,600.00	\$39,506.67	\$197,533.33	\$25,000.00	\$54,520.00
42	SLEEVES – IN STREETS BETWEEN MEDIAN – BORING	6,000	LF	\$30.00	\$180,000.00	\$39.00	\$234,000.00	\$98.00	\$588,000.00	\$55.67	\$334,000.00	\$30.00	\$98.00
43	TRANSMITTER AND RECEIVER	1	LS	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00	\$7,970.00	\$7,970.00	\$3,823.33	\$3,823.33	\$1,500.00	\$7,970.00
44	FIELD QUALITY CONTROL	1	LS	\$15,000.00	\$15,000.00	\$21,000.00	\$21,000.00	\$10,620.00	\$10,620.00	\$15,540.00	\$15,540.00	\$10,620.00	\$21,000.00
45	BACKFLOW DEVICE	8	EA	\$8,500.00	\$68,000.00	\$13,000.00	\$104,000.00	\$13,100.00	\$104,800.00	\$11,533.33	\$92,266.67	\$8,500.00	\$13,100.00
46	WATER METER INSTALLATION	8	EA	\$12,300.00	\$98,400.00	\$13,000.00	\$104,000.00	\$2,970.00	\$23,760.00	\$9,423.33	\$75,386.67	\$2,970.00	\$13,000.00
<b>PLANTING</b>													
47	SOIL PREP AND WEED ABATEMENT – MEDIAN	16,470	SF	\$1.00	\$16,470.00	\$2.00	\$32,940.00	\$2.90	\$47,763.00	\$1.97	\$32,391.00	\$1.00	\$2.90
48	3" THICK LAYER OF MULCH-PLANTING AREA – MEDIAN	16,470	SF	\$1.25	\$20,587.50	\$2.00	\$32,940.00	\$5.70	\$93,879.00	\$2.98	\$49,135.50	\$1.25	\$5.70
49	TREE ROOT CONTROL BARRIER	2,592	LF	\$13.00	\$33,696.00	\$17.00	\$44,064.00	\$23.00	\$59,616.00	\$17.67	\$45,792.00	\$13.00	\$23.00
50	36" BOX TREE – MEDIAN	91	EA	\$1,300.00	\$118,300.00	\$1,700.00	\$154,700.00	\$2,570.00	\$233,870.00	\$1,856.67	\$168,956.67	\$1,300.00	\$2,570.00
51	24" BOX TREE – MEDIAN	16	EA	\$950.00	\$15,200.00	\$1,300.00	\$20,800.00	\$1,030.00	\$16,480.00	\$1,093.33	\$17,493.33	\$950.00	\$1,300.00
52	1 GALLON SHRUB – MEDIAN	666	EA	\$18.50	\$12,321.00	\$24.00	\$15,984.00	\$27.00	\$17,982.00	\$23.17	\$15,429.00	\$18.50	\$27.00
53	5 GALLON SHRUB – MEDIAN	1,588	EA	\$36.00	\$57,168.00	\$47.00	\$74,636.00	\$89.00	\$141,332.00	\$57.33	\$91,045.33	\$36.00	\$89.00
54	90 DAY POST INSTALLATION MAINTENANCE	1	LS	\$9,500.00	\$9,500.00	\$9,500.00	\$35,410.00	\$35,410.00	\$18,136.67	\$18,136.67	\$9,500.00	\$35,410.00	
	<b>Sub Total</b>				<b>\$2,154,390.50</b>		<b>\$2,805,842.00</b>		<b>\$3,197,698.00</b>		<b>\$2,719,310.17</b>	<b>\$514,749.75</b>	<b>\$1,336,694.60</b>
<b>TOTAL BASE BID SCHEDULE A AMOUNT IN NUMBERS:</b>					<b>\$12,089,579.40</b>		<b>\$12,072,803.00</b>		<b>\$14,704,618.00</b>		<b>\$12,955,666.80</b>		
<b>BASE BID SCHEDULE B</b>													
55	INSTALL LADDER CROSSWALK	26,450	SF	\$4.00	\$105,800.00	\$4.00	\$105,800.00	\$6.80	\$179,860.00	\$4.93	\$130,486.67	\$4.00	\$6.80
56	INSTALL LIMIT LINE	3,110	LF	\$4.00	\$12,440.00	\$4.00	\$12,440.00	\$6.80	\$21,148.00	\$4.93	\$15,342.67	\$4.00	\$6.80
57	INSTALL LED COUNTDOWN PEDESTRIAN HEAD WITH MOUNTING	48	EA	\$1,500.00	\$72,000.00	\$1,500.00	\$72,000.00	\$2,500.00	\$120,000.00	\$1,833.33	\$88,000.00	\$1,500.00	\$2,500.00

## 1. BID TABULATION

PROJECT NAME: SLAUSON AVENUE CORRIDOR IMPROVEMENT I-5 TO I-710 AND ATP CYCLE 6 IMPROVEMENTS AT VARIOUS LOCATIONS PROJECT

BID TABULATION			Apparent Low Bidder 1		Apparent Low Bidder 2		Apparent Low Bidder 3		AVERAGE BID VALUES		LOWEST UNIT BID PRICE	HIGHEST UNIT BID PRICE
			All American Asphalt		Excel Paving		C.A Rasmussen, Inc					
Bid Item and Description	Qty	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
58 FURNISH AND INSTALL SPEED FEEDBACK SIGN	4	EA	\$20,000.00	\$80,000.00	\$21,000.00	\$84,000.00	\$31,980.00	\$127,920.00	\$24,326.67	\$97,306.67	\$20,000.00	\$31,980.00
59 FURNISH AND INSTALL BUS SHELTER IMPROVEMENTS (SHELTER, BENCH, ETC)	18	EA	\$11,000.00	\$198,000.00	\$28,000.00	\$504,000.00	\$35,100.00	\$631,800.00	\$24,700.00	\$444,600.00	\$11,000.00	\$35,100.00
60 REMOVE & DISPOSE PCC CURB/CURB & GUTTER	50	LF	\$25.00	\$1,250.00	\$60.00	\$3,000.00	\$102.00	\$5,100.00	\$62.33	\$3,116.67	\$25.00	\$102.00
61 REMOVE & DISPOSE PCC SIDEWALK/CURB RAMP	1,600	SF	\$5.00	\$8,000.00	\$11.00	\$17,600.00	\$18.00	\$28,800.00	\$11.33	\$18,133.33	\$5.00	\$18.00
62 REMOVE & DISPOSE TREE COMPLETE	9	EA	\$1,000.00	\$9,000.00	\$985.00	\$8,865.00	\$1,860.00	\$16,740.00	\$1,281.67	\$11,535.00	\$985.00	\$1,860.00
63 REMOVE & SALVAGE EXISTING IN-PAVEMENT WARNING LIGHT SYSTEM	1	EA	\$6,500.00	\$6,500.00	\$7,000.00	\$7,000.00	\$10,830.00	\$10,830.00	\$8,110.00	\$8,110.00	\$6,500.00	\$10,830.00
64 REMOVE & SALVAGE EXISTING SIGN	17	EA	\$180.00	\$3,060.00	\$184.00	\$3,128.00	\$303.00	\$5,151.00	\$222.33	\$3,779.67	\$180.00	\$303.00
65 WET SANDBLAST EXISTING PAVEMENT MARKINGS	1,830	SF	\$2.50	\$4,575.00	\$3.00	\$5,490.00	\$4.20	\$7,686.00	\$3.23	\$5,917.00	\$2.50	\$4.20
66 INSTALL AC PAVEMENT	90	SF	\$100.00	\$9,000.00	\$99.00	\$8,910.00	\$178.00	\$16,020.00	\$125.67	\$11,310.00	\$99.00	\$178.00
67 INSTALL TYPE II SLURRY SEAL	350	SF	\$60.00	\$21,000.00	\$45.00	\$15,750.00	\$54.00	\$18,900.00	\$53.00	\$18,550.00	\$45.00	\$60.00
68 INSTALL PCC CURB RAMP	11	EA	\$9,200.00	\$101,200.00	\$12,000.00	\$132,000.00	\$11,160.00	\$122,760.00	\$10,786.67	\$118,653.33	\$9,200.00	\$12,000.00
69 INSTALL RRFB SYSTEM COMPLETE	7	EA	\$22,000.00	\$154,000.00	\$22,000.00	\$154,000.00	\$35,350.00	\$247,450.00	\$26,450.00	\$185,150.00	\$22,000.00	\$35,350.00
70 INSTALL TRAFFIC SIGN ON POST OR STREET LIGHT	44	EA	\$400.00	\$17,600.00	\$410.00	\$18,040.00	\$673.00	\$29,612.00	\$494.33	\$21,750.67	\$400.00	\$673.00
71 RELOCATE EXISTING SIGN TO POST OR STREET LIGHT	25	EA	\$250.00	\$6,250.00	\$256.00	\$6,400.00	\$421.00	\$10,525.00	\$309.00	\$7,725.00	\$250.00	\$421.00
72 INSTALL TELESPAR POSTS	32	EA	\$285.00	\$9,120.00	\$290.00	\$9,280.00	\$480.00	\$15,360.00	\$351.67	\$11,253.33	\$285.00	\$480.00
73 ISNTALL LADDER CROSSWALK	4,100	SF	\$4.00	\$16,400.00	\$4.00	\$16,400.00	\$6.80	\$27,880.00	\$4.93	\$20,226.67	\$4.00	\$6.80
74 INSTALL CROSSWALK (12" STANDARD LINES)	305	LF	\$4.00	\$1,220.00	\$4.00	\$1,220.00	\$6.80	\$2,074.00	\$4.93	\$1,504.67	\$4.00	\$6.80
75 INSTALL YIELD LINE	245	SF	\$15.00	\$3,675.00	\$16.00	\$3,920.00	\$26.00	\$6,370.00	\$19.00	\$4,655.00	\$15.00	\$26.00
76 INSTALL WORD PAVEMENT MARKINGS	940	SF	\$11.00	\$10,340.00	\$12.00	\$11,280.00	\$19.00	\$17,860.00	\$14.00	\$13,160.00	\$11.00	\$19.00
77 INSTALL TURN ARROWS	16	SF	\$15.60	\$249.60	\$16.00	\$256.00	\$26.00	\$416.00	\$19.20	\$307.20	\$15.60	\$26.00
78 INSTALL PAVEMENT STRIPING, DETAIL 22	125	LF	\$10.00	\$1,250.00	\$11.00	\$1,375.00	\$16.80	\$2,100.00	\$12.60	\$1,575.00	\$10.00	\$16.80
79 INSTALL PAVEMENT STRIPING, DETAIL 32	30	LF	\$10.00	\$300.00	\$11.00	\$330.00	\$16.60	\$498.00	\$12.53	\$376.00	\$10.00	\$16.60
80 INSTALL PAVEMENT STRIPING, DETAIL 38	100	LF	\$10.00	\$1,000.00	\$11.00	\$1,100.00	\$16.80	\$1,680.00	\$12.60	\$1,260.00	\$10.00	\$16.80
81 INSTALL RED CURBS	250	LF	\$3.00	\$750.00	\$3.00	\$750.00	\$5.20	\$1,300.00	\$3.73	\$933.33	\$3.00	\$5.20
82 INSTALL BLACK CONTRAST PAINT ON PCC PAVEMENT	800	SF	\$20.00	\$16,000.00	\$21.00	\$16,800.00	\$33.60	\$26,880.00	\$24.87	\$19,893.33	\$20.00	\$33.60
<b>TOTAL BASE BID SCHEDULE B AMOUNT IN NUMBERS:</b>				<b>\$869,979.60</b>		<b>\$1,221,134.00</b>		<b>\$1,702,720.00</b>		<b>\$1,264,611.20</b>		

## ADITIVE BID SCHEDULE A

A1 UNCLASSIFIED EXCAVATION	19,200	CY	\$153.00	\$2,937,600.00	\$235.00	\$4,512,000.00	\$201.00	\$3,859,200.00	\$196.33	\$3,769,600.00	\$153.00	\$235.00
A2 GRIND 2" AC PAVEMENT	1,068	SY	\$25.00	\$26,700.00	\$42.00	\$44,856.00	\$34.00	\$36,312.00	\$33.67	\$35,956.00	\$25.00	\$42.00
A3 AC PAVEMENT	15,673	TON	\$152.00	\$2,382,296.00	\$158.00	\$2,476,334.00	\$176.00	\$2,758,448.00	\$162.00	\$2,539,026.00	\$152.00	\$176.00
A4 LEVELING COURSE	439	TON	\$152.00	\$66,728.00	\$200.00	\$87,800.00	\$274.00	\$120,286.00	\$208.67	\$91,604.67	\$152.00	\$274.00
A5 CRUSHED AGGREGATE BASE	4,274	CY	\$75.00	\$320,550.00	\$99.00	\$423,126.00	\$640.00	\$2,735,360.00	\$271.33	\$1,159,678.67	\$75.00	\$640.00
A6 CRUSHED MISCELLANEOUS BASE	15,410	CY	\$60.00	\$924,600.00	\$81.00	\$1,248,210.00	\$166.00	\$2,558,060.00	\$102.33	\$1,576,956.67	\$60.00	\$166.00
A7 PAVING MAT/FABRIC	295,914	SF	\$0.52	\$153,875.28	\$1.00	\$295,914.00	\$1.30	\$384,688.20	\$0.94	\$278,159.16	\$0.52	\$1.30
A8 CONSTRUCT PCC PAVEMENT	2,081	CY	\$1,450.00	\$3,017,450.00	\$700.00	\$1,456,700.00	\$1,190.00	\$2,476,390.00	\$1,113.33	\$2,316,846.67	\$700.00	\$1,450.00
A9 CRACK SEAL EXISTING PCC PAVEMENT	1	LS	\$95,000.00	\$95,000.00	\$58,000.00	\$58,000.00	\$77,830.00	\$77,830.00	\$76,943.33	\$76,943.33	\$58,000.00	\$95,000.00
A10 CONSTRUCT 6" CURB AND GUTTER PER SPPWC STANDARD PLAN 120-3 OVER 12" MIN. OF 95% COMPACTED NATIVE	403	LF	\$150.00	\$60,450.00	\$142.00	\$57,226.00	\$122.00	\$49,166.00	\$138.00	\$55,614.00	\$122.00	\$150.00
A11 CONSTRUCT 8" CURB AND GUTTER PER SPPWC STANDARD PLAN 120-3 OVER 12" MIN. OF 95% COMPACTED NATIVE	948	LF	\$160.00	\$151,680.00	\$143.00	\$135,564.00	\$117.00	\$110,916.00	\$140.00	\$132,720.00	\$117.00	\$160.00
A12 CONSTRUCT VARIABLE HEIGHT CURB AND GUTTER (HEIGHT PER PLAN) PER SPPWC STANDARD PLAN 120-3 OVER 95% COMPACTED NATIVE	606	LF	\$110.00	\$66,660.00	\$145.00	\$87,870.00	\$124.00	\$75,144.00	\$126.33	\$76,558.00	\$110.00	\$145.00

1. BID TABULATION													
PROJECT NAME: SLAUSON AVENUE CORRIDOR IMPROVEMENT I-5 TO I-710 AND ATP CYCLE 6 IMPROVEMENTS AT VARIOUS LOCATIONS PROJECT													
BID TABULATION			Apparent Low Bidder 1		Apparent Low Bidder 2		Apparent Low Bidder 3		AVERAGE BID VALUES		LOWEST UNIT BID PRICE	HIGHEST UNIT BID PRICE	
			All American Asphalt		Excel Paving		C.A Rasmussen, Inc						
Bid Item and Description		Qty	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	\$75.00	\$120.00
A13	CONSTRUCT RETAINING CURB PER SPPWC STANDARD PLAN 120-3	629	LF	\$80.00	\$50,320.00	\$120.00	\$75,480.00	\$75.00	\$47,175.00	\$91.67	\$57,658.33		
A14	CONSTRUCT CURB RAMP PER SPPWC STANDARD PLAN 111-5 OVER 12" OF SCARIFIED SUBGRADE AND AIR DRIED (WHEN NEEDED), MOISTURE CONDITIONED TO 2%-4% ABOVE OPTIMUM MOISTURE CONTENT AND COMPAKTED TO 95% RELATIVE COMPAKCTION. TYPE AS SHOWN PER PLAN	32	EA	\$11,500.00	\$368,000.00	\$11,000.00	\$352,000.00	\$10,780.00	\$344,960.00	\$11,093.33	\$354,986.67	\$10,780.00	\$11,500.00
A15	REMOVE AND RECONSTRUCT 4.5" THICK PCC SIDEWALK OVER 12" OF SCARIFIED SUBGRADE AND AIR DRIED (WHEN NEEDED), MOISTURE CONDITIONED TO 2%-4% ABOVE OPTIMUM MOISTURE CONTENT AND COMPAKTED TO 95% RELATIVE COMPAKCTION	11,290	SF	\$20.00	\$225,800.00	\$29.00	\$327,410.00	\$31.00	\$349,990.00	\$26.67	\$301,066.67	\$20.00	\$31.00
A16	CONSTRUCT CURB DRAIN PER SPPWC STANDARD PLAN 150-4 (N=1) UNLESS SHOWN OTHERWISE	1	EA	\$8,500.00	\$8,500.00	\$3,000.00	\$3,000.00	\$8,310.00	\$8,310.00	\$6,603.33	\$6,603.33	\$3,000.00	\$8,500.00
A17	CONSTRUCT CURB DRAIN (OUTLET ONLY) PER SPPWC STANDARD PLAN 150-4 (N-1) UNLESS SHOWN OTHERWISE	1	EA	\$8,500.00	\$8,500.00	\$2,900.00	\$2,900.00	\$7,390.00	\$7,390.00	\$6,263.33	\$6,263.33	\$2,900.00	\$8,500.00
A18	REMOVE AND RECONSTRUCT 6" THICK (HIGH EARLY STRENGTH) DRIVEWAY PER SPPWC STANDARD PLAN 110-2, TYPE A	1,377	SF	\$29.00	\$39,933.00	\$32.00	\$44,064.00	\$48.00	\$66,096.00	\$36.33	\$50,031.00	\$29.00	\$48.00
A19	REMOVE AND RECONSTRUCT 6" THICK (HIGH EARLY STRENGTH) DRIVEWAY PER SPPWC STANDARD PLAN 110-2, TYPE C	92	SF	\$29.00	\$2,668.00	\$35.00	\$3,220.00	\$76.00	\$6,992.00	\$46.67	\$4,293.33	\$29.00	\$76.00
A20	REMOVE EXISTING CROSS GUTTER AND RECONSTRUCT 8" THICK PCC (HIGH EARLY STRENGTH) CROSS GUTTER PER SPPWC STANDARD PLAN 122-3 OVER 12" MIN. OF 95% COMPAKTED NATIVE	1,130	SF	\$35.00	\$39,550.00	\$43.00	\$48,590.00	\$76.00	\$85,880.00	\$51.33	\$58,006.67	\$35.00	\$76.00
A21	REMOVE AND RECONSTRUCT 8" THICK PCC (HIGH EARLY STRENGTH) CROSS GUTTER SPANDREL PER SPPWC STANDARD PLAN 122-3 OVER 12" MIN. OF 95% COMPAKTED NATIVE	980	SF	\$35.00	\$34,300.00	\$44.00	\$43,120.00	\$84.00	\$82,320.00	\$54.33	\$53,246.67	\$35.00	\$84.00
A22	INSTALL UNITED STORM WATER INC. "WING-GATE" ARS (AUTOMATIC RETRACTABLE SCREENS) OR APPROVED EQUAL ON EXISTING CATCH BASIN OPENING	1	EA	\$10,000.00	\$10,000.00	\$12,000.00	\$12,000.00	\$13,630.00	\$13,630.00	\$11,876.67	\$11,876.67	\$10,000.00	\$13,630.00
A23	REMODEL TOP OF EXISTING CATCH BASIN PER SPPWC STANDARD NO. 300-4 AND PER DETAIL B ON SHEET 3	2	EA	\$24,000.00	\$48,000.00	\$19,000.00	\$38,000.00	\$8,140.00	\$16,280.00	\$17,046.67	\$34,093.33	\$8,140.00	\$24,000.00
A24	24" BOX, 15 GALLON TREE IN SIDEWALK INCLUDE 90-DAY PLANT ESTABLISHMENT PERIOD	100	EA	\$750.00	\$75,000.00	\$700.00	\$70,000.00	\$1,260.00	\$126,000.00	\$903.33	\$90,333.33	\$700.00	\$1,260.00
A25	DIAMOND GRINDING OF EXISTING PCC PAVEMENT	10,000	SF	\$12.00	\$120,000.00	\$7.00	\$70,000.00	\$5.00	\$50,000.00	\$8.00	\$80,000.00	\$5.00	\$12.00
<b>TOTAL ADDITIVE BID SCHEDULE A AMOUNT IN NUMBERS:</b>						\$11,234,160.28		\$11,973,384.00		\$16,446,823.20		\$13,218,122.49	
<b>ADITIVE BID SCHEDULE B</b>													
A26	UNCLASSIFIED EXCAVATION	49	CY	\$700.00	\$34,300.00	\$987.00	\$48,363.00	\$325.00	\$15,925.00	\$670.67	\$32,862.67	\$325.00	\$987.00
A27	AC PAVEMENT	77	TON	\$1,300.00	\$100,100.00	\$952.00	\$73,304.00	\$266.00	\$20,482.00	\$839.33	\$64,628.67	\$266.00	\$1,300.00
A28	LEVELING COURSE	21	TON	\$1,300.00	\$27,300.00	\$985.00	\$20,685.00	\$300.00	\$6,300.00	\$861.67	\$18,095.00	\$300.00	\$1,300.00
A29	CONSTRUCT 6" CURB PER SPPWC STANDARD PLAN 120-3 OVER 95% COMPAKTED NATIVE	113	LF	\$420.00	\$47,460.00	\$165.00	\$18,645.00	\$184.00	\$20,792.00	\$256.33	\$28,965.67	\$165.00	\$420.00
A30	PAVING MAT/FABRIC	2,158	SF	\$2.65	\$5,718.70	\$6.00	\$12,948.00	\$3.40	\$7,337.20	\$4.02	\$8,667.97	\$2.65	\$6.00
<b>TOTAL ADDITIVE SCHEDULE B AMOUNT IN NUMBERS:</b>						\$214,878.70		\$173,945.00		\$70,836.20		\$153,219.97	
<b>TOTAL BASE BID AMOUNT</b>						\$12,959,559.00		\$13,293,937.00		\$16,407,338.00			
<b>The award of Contract is based on this amount.</b>													

1. BID TABULATION												
PROJECT NAME: SLAUSON AVENUE CORRIDOR IMPROVEMENT I-5 TO I-710 AND ATP CYCLE 6 IMPROVEMENTS AT VARIOUS LOCATIONS PROJECT												
BID TABULATION			Apparent Low Bidder 1		Apparent Low Bidder 2		Apparent Low Bidder 3		AVERAGE BID VALUES		LOWEST UNIT BID PRICE	HIGHEST UNIT BID PRICE
			All American Asphalt		Excel Paving		C.A Rasmussen, Inc					
Bid Item and Description	Qty	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price		
TOTAL ADDITIVE BID AMOUNTS				\$11,449,038.98				\$16,517,659.40				
TOTAL BASE BID AMOUNT + TOTAL ADDITIVE BID AMOUNTS				\$24,408,597.98				\$32,924,997.40				
BID RANKING				Apparent Low Bidder 1		Apparent Low Bidder 2		Apparent Low Bidder 3				
TOTAL BASE BID AMOUNT CALCULATED BASED ON UNIT PRICES				\$12,959,559.00		\$13,293,937.00		\$16,407,338.00				
TOTAL BASE BID AMOUNT INDICATED BY BIDDER				\$12,959,559.00		\$25,441,266.00		\$16,407,338.00				
CALCULATION CORRECTIONS TO BID AMOUNT SUBMITTED BY CONTRACTOR BASED ON CALCULATED BID AMOUNT				\$0.00		-\$12,147,329.00		\$0.00				
SUBCONTRACTOR % AND AMOUNT SHOWN IN THE BID			47.78%	\$6,191,578.50	47.64%	\$6,333,489.00	35.85%	\$5,881,991.60				
SUBCONTRACTORS	V&E Tree Services, Inc.	\$69,912.00	V&E TREE	\$80,372.00	Marina Landscape	\$1,265,812.50						
	Case Land Surveying	\$139,350.00	BELCO	\$4,109,897.00	PCI	\$506,282.10						
	Duffy General Engineering, Inc.	\$117,700.00	KATO	\$1,348,438.00	BELCO	\$4,109,897.00						
	Kato Landscape, Inc.	\$1,348,437.50	PCI	\$513,482.00								
	WGJ Enterprises, Inc. dba PCI	\$506,282.00	CASELAND	\$182,300.00								
	Elecnor Belco Electric, Inc.	\$4,009,897.00	ALL AMERICAN	\$99,000.00								
		\$6,191,578.50	TOTAL	\$6,333,489.00	TOTAL	\$5,881,991.60						

**2. REVIEW OF APPARENT LOW BID**

APPARENT LOW BID SUBMITTED BY:		All American Asphalt			APPARENT LOW BID AMOUNT:	\$12,959,559.00
ITEM REVIEWED/CHECKED		REVIEW RESULT	CHECKED BY	DATE	REMARKS	
BID STAMPED AS RECEIVED PRIOR BID TIME:		YES	CITY CLERK	12/2/25		
BID BOND IN PROPER AMOUNT:		YES	KV	1/6/26		
ALL ADDENDA ACKNOWLEDGED:		YES	KV	1/6/26		
ANY APPARENT DISCREPANCY IN THE SUBMITTAL:		NO	KV	1/6/26		
TOTAL BID PRICES CALCULATED CORRECTLY:		YES	KV	1/6/26		
PRIME CONTRACTOR LICENSE STATUS:	All American Asphalt	267073	KV	1/6/26	Print-out from CLSB Web Page attached ( <a href="http://www.cslb.ca.gov/">http://www.cslb.ca.gov/</a> )	
SUB CONTRACTOR LICENSE STATUS:	V&E Tree Services, Inc.	654506	KV	1/6/26	Print-out from CLSB Web Page attached ( <a href="http://www.cslb.ca.gov/">http://www.cslb.ca.gov/</a> )	
SUB CONTRACTOR LICENSE STATUS:	Case Land Surveying	L5411	KV	1/6/26	Print-out from DCA Web Page attached ( <a href="https://search.dca.ca.gov/">https://search.dca.ca.gov/</a> )	
SUB CONTRACTOR LICENSE STATUS:	Duffy General Engineering, Inc.	1118574	KV	1/6/26	Print-out from CLSB Web Page attached ( <a href="http://www.cslb.ca.gov/">http://www.cslb.ca.gov/</a> )	
SUB CONTRACTOR LICENSE STATUS:	Kato Landscape, Inc.	806122	KV	1/6/26	Print-out from CLSB Web Page attached ( <a href="http://www.cslb.ca.gov/">http://www.cslb.ca.gov/</a> )	
SUB CONTRACTOR LICENSE STATUS:	WGJ Enterprises, Inc. dba PCI	415490	KV	1/6/26	Print-out from CLSB Web Page attached ( <a href="http://www.cslb.ca.gov/">http://www.cslb.ca.gov/</a> )	
SUB CONTRACTOR LICENSE STATUS:	Elecnor Belco Electric, Inc.	738518	KV	1/6/26	Print-out from CLSB Web Page attached ( <a href="http://www.cslb.ca.gov/">http://www.cslb.ca.gov/</a> )	
PRIME CONTRACTOR DIR REGISTRATION STATUS:	All American Asphalt	1000001051	KV	1/6/26	Print-out from DIR Web Page attached ( <a href="https://efiling.dir.ca.gov/PWCR/Search">https://efiling.dir.ca.gov/PWCR/Search</a> )	
SUB CONTRACTOR DIR REGISTRATION STATUS:	V&E Tree Services, Inc.	1000001936	KV	1/6/26	Print-out from DIR Web Page attached ( <a href="https://efiling.dir.ca.gov/PWCR/Search">https://efiling.dir.ca.gov/PWCR/Search</a> )	
SUB CONTRACTOR DIR REGISTRATION STATUS:	Case Land Surveying	1000001533	KV	1/6/26	Print-out from DIR Web Page attached ( <a href="https://efiling.dir.ca.gov/PWCR/Search">https://efiling.dir.ca.gov/PWCR/Search</a> )	
SUB CONTRACTOR DIR REGISTRATION STATUS:	Duffy General Engineering, Inc.	1001154440	KV	1/6/26	Print-out from DIR Web Page attached ( <a href="https://efiling.dir.ca.gov/PWCR/Search">https://efiling.dir.ca.gov/PWCR/Search</a> )	
SUB CONTRACTOR DIR REGISTRATION STATUS:	Kato Landscape, Inc.	1000000086	KV	1/6/26	Print-out from DIR Web Page attached ( <a href="https://efiling.dir.ca.gov/PWCR/Search">https://efiling.dir.ca.gov/PWCR/Search</a> )	
SUB CONTRACTOR DIR REGISTRATION STATUS:	WGJ Enterprises, Inc. dba PCI	1000813536	KV	1/6/26	Print-out from DIR Web Page attached ( <a href="https://efiling.dir.ca.gov/PWCR/Search">https://efiling.dir.ca.gov/PWCR/Search</a> )	
SUB CONTRACTOR DIR REGISTRATION STATUS:	Elecnor Belco Electric, Inc.	1000004804	KV	1/6/26	Print-out from DIR Web Page attached ( <a href="https://efiling.dir.ca.gov/PWCR/Search">https://efiling.dir.ca.gov/PWCR/Search</a> )	
PRIME CONTRACTOR DEBARMENT STATUS FROM STATE CONTRACTS:	All American Asphalt	NOT FOUND IN ACTIVE DEBARRED LIST	KV	1/6/26	Print-out from DIR Web Page attached ( <a href="http://www.dir.ca.gov/dlse/debar.html">http://www.dir.ca.gov/dlse/debar.html</a> )	
SUB CONTRACTOR DEBARMENT STATUS FROM STATE CONTRACTS:	V&E Tree Services, Inc.	NOT FOUND IN ACTIVE DEBARRED LIST	KV	1/6/26	Print-out from DIR Web Page attached ( <a href="http://www.dir.ca.gov/dlse/debar.html">http://www.dir.ca.gov/dlse/debar.html</a> )	
SUB CONTRACTOR DEBARMENT STATUS FROM STATE CONTRACTS:	Case Land Surveying	NOT FOUND IN ACTIVE DEBARRED LIST	KV	1/6/26	Print-out from DIR Web Page attached ( <a href="http://www.dir.ca.gov/dlse/debar.html">http://www.dir.ca.gov/dlse/debar.html</a> )	
SUB CONTRACTOR DEBARMENT STATUS FROM STATE CONTRACTS:	Duffy General Engineering, Inc.	NOT FOUND IN ACTIVE DEBARRED LIST	KV	1/6/26	Print-out from DIR Web Page attached ( <a href="http://www.dir.ca.gov/dlse/debar.html">http://www.dir.ca.gov/dlse/debar.html</a> )	
SUB CONTRACTOR DEBARMENT STATUS FROM STATE CONTRACTS:	Kato Landscape, Inc.	NOT FOUND IN ACTIVE DEBARRED LIST	KV	1/6/26	Print-out from DIR Web Page attached ( <a href="http://www.dir.ca.gov/dlse/debar.html">http://www.dir.ca.gov/dlse/debar.html</a> )	
SUB CONTRACTOR DEBARMENT STATUS FROM STATE CONTRACTS:	WGJ Enterprises, Inc. dba PCI	NOT FOUND IN ACTIVE DEBARRED LIST	KV	1/6/26	Print-out from DIR Web Page attached ( <a href="http://www.dir.ca.gov/dlse/debar.html">http://www.dir.ca.gov/dlse/debar.html</a> )	
SUB CONTRACTOR DEBARMENT STATUS FROM STATE CONTRACTS:	Elecnor Belco Electric, Inc.	NOT FOUND IN ACTIVE DEBARRED LIST	KV	1/6/26	Print-out from DIR Web Page attached ( <a href="http://www.dir.ca.gov/dlse/debar.html">http://www.dir.ca.gov/dlse/debar.html</a> )	
PRIME CONTRACTOR DEBARMENT STATUS FROM FEDERAL CONTRACTS:	All American Asphalt	NOT FOUND IN ACTIVE DEBARRED LIST	KV	1/6/26	Print-out from SAM Web Page attached ( <a href="https://www.sam.gov/SAM/">https://www.sam.gov/SAM/</a> )	
SUB CONTRACTOR DEBARMENT STATUS FROM FEDERAL CONTRACTS:	V&E Tree Services, Inc.	NOT FOUND IN ACTIVE DEBARRED LIST	KV	1/6/26	Print-out from SAM Web Page attached ( <a href="https://www.sam.gov/SAM/">https://www.sam.gov/SAM/</a> )	

**2. REVIEW OF APPARENT LOW BID**

APPARENT LOW BID SUBMITTED BY:		All American Asphalt			APPARENT LOW BID AMOUNT:	\$12,959,559.00
ITEM REVIEWED/CHECKED		REVIEW RESULT	CHECKED BY	DATE	REMARKS	
SUB CONTRACTOR DEBARMENT STATUS FROM FEDERAL CONTRACTS:	Case Land Surveying	NOT FOUND IN ACTIVE DEBARRED LIST	KV	1/6/26	Print-out from SAM Web Page attached ( <a href="https://www.sam.gov/SAM/">https://www.sam.gov/SAM/</a> )	
SUB CONTRACTOR DEBARMENT STATUS FROM FEDERAL CONTRACTS:	Duffy General Engineering, Inc.	NOT FOUND IN ACTIVE DEBARRED LIST	KV	1/6/26	Print-out from SAM Web Page attached ( <a href="https://www.sam.gov/SAM/">https://www.sam.gov/SAM/</a> )	
SUB CONTRACTOR DEBARMENT STATUS FROM FEDERAL CONTRACTS:	Kato Landscape, Inc.	NOT FOUND IN ACTIVE DEBARRED LIST	KV	1/6/26	Print-out from SAM Web Page attached ( <a href="https://www.sam.gov/SAM/">https://www.sam.gov/SAM/</a> )	
SUB CONTRACTOR DEBARMENT STATUS FROM FEDERAL CONTRACTS:	WGJ Enterprises, Inc. dba PCI	NOT FOUND IN ACTIVE DEBARRED LIST	KV	1/6/26	Print-out from SAM Web Page attached ( <a href="https://www.sam.gov/SAM/">https://www.sam.gov/SAM/</a> )	
SUB CONTRACTOR DEBARMENT STATUS FROM FEDERAL CONTRACTS:	Elecnor Belco Electric, Inc.	NOT FOUND IN ACTIVE DEBARRED LIST	KV	1/6/26	Print-out from SAM Web Page attached ( <a href="https://www.sam.gov/SAM/">https://www.sam.gov/SAM/</a> )	
REFERENCE CHECK ACCEPTABLE:	YES		PS	1/6/26		

## 3. REFERENCE CHECK OF APPARENT LOW BIDDER

C.A Rasmussen, Inc

REFERENCE DATA FOR APPARENT LOW BIDDER										REFERENCE CHECK FOR APPARENT LOW BIDDER		CHECKED BY	DATE
REFERENCE PROJECT	OWNER AND REFERENCE NAME	TEL	AMOUNT	DATE COMPLETED	DID THE CONTRACTOR DO QUALITY WORK	DID THE CONTRACTOR STAY ON SCHEDULE	DID THE CONTRACTOR ASK FOR UNNECESSARY CHANGE ORDERS	DID THE CONTRACTOR FILE CLAIMS AGAINST YOU	WILL YOU HIRE THE CONTRACTOR AGAIN	REMARKS			
Jamboree Pavement Rehabilitation	City of Irvine Stacy Delong, PM	(949) 724-7365	\$7,869,222.00	2024	Yes	Yes	No	No	Yes	All American did a great job beyond expectation	PS	1/6/2026	
SB-1 Street Improvement	City of Riverside Mark Mesen, PM	9515383037	\$8,965,842.76	2024	Yes	Yes	No	No	Yes	Usually Subs are the ones holding the contractors back.	PS	1/6/2026	
Local Streets Rehab Program PH II Zone 19	City of Norwalk Glen W.C. Kau, PM	(562) 929-5723	\$7,869,222.00	2024						No Longer with the City	PS	1/6/2026	
Pavement Rehab at Various Locations	City of Loma Linda Jarb Thaiperjr, PM	(909) 799-2811	\$1,476,363.00	2023	Yes	Yes	No	No	Yes	Very Good Experience	PS	1/6/2026	
2023 Street Rehabilitation Project	City of Monterey Park Anthony Bendezu, PM	(626) 307-1283	\$6,865,399.00	2023							PS	1/6/2026	

<b>4. LOWEST RESPONSIVE BID</b>	
<b>LOWEST RESPONSIVE BID SUBMITTED BY:</b>	All American Asphalt
<b>IN THE AMOUNT OF:</b>	\$12,959,559.00



Home

CONTRACTORS STATE LICENSE BOARD



## Contractor's License Detail for License # 267073

**DISCLAIMER: A license status check provides information taken from the CSLB license database. Before relying on this information, you should be aware of the following limitations.**

- ▶ CSLB complaint disclosure is restricted by law ([B&P 7124.6](#)) If this entity is subject to public complaint disclosure click on link that will appear below for more information. Click [here](#) for a definition of disclosable actions.
- ▶ Only construction related civil judgments reported to CSLB are disclosed ([B&P 7071.17](#)).
- ▶ Arbitrations are not listed unless the contractor fails to comply with the terms.
- ▶ Due to workload, there may be relevant information that has not yet been entered into the board's license database.

Data current as of 1/6/2026 10:07:08 AM

### Business Information

ALL AMERICAN ASPHALT  
P O BOX 2229  
CORONA, CA 92878  
Business Phone Number:(951) 736-7600

**Entity** Corporation  
**Issue Date** 01/19/1971  
**Expire Date** **01/31/2028**

### License Status

**This license is current and active.**

**All information below should be reviewed.**

### Classifications

- ▶ [A - GENERAL ENGINEERING](#)
- ▶ [C12 - EARTHWORK AND PAVING](#)

### Bonding Information

#### Contractor's Bond

This license filed a Contractor's Bond with [FIDELITY AND DEPOSIT COMPANY OF MARYLAND](#).

**Bond Number:** 08727441

**Bond Amount:** \$25,000

**Effective Date:** 01/01/2023

[Contractor's Bond History](#)

#### Bond of Qualifying Individual

This license filed Bond of Qualifying Individual number **LPM7627119** for MARK ALBERT LUER in the amount of **\$25,000** with [FIDELITY AND DEPOSIT COMPANY OF MARYLAND](#).

**Effective Date:** 01/01/2023

[BQI's Bond History](#)

This license has workers compensation insurance with the [ZURICH AMERICAN INSURANCE COMPANY](#)

**Policy Number:**WC593205712

**Effective Date:** 08/01/2025

**Expire Date:** 08/01/2026

[Workers' Compensation History](#)

**Workers' compensation classification code(s):**

5506 - Street/Road Construction-paving

5507 - Street/Road Construction-grading

8742 - Salespersons-Outside

For a description of the workers' compensation classification code(s) listed for this licensee, contact the licensee's insurance carrier. Contact information for the licensee's insurer is available by clicking the insurer link above. Classification codes are also available on the Workers' Compensation Insurance Rating Bureau's classification search page.

**The board does not verify or investigate the accuracy of classification codes displayed.**

Other

- ▶ Personnel listed on this license (current or disassociated) are listed on other licenses.

[Back to Top](#)    [Conditions of Use](#)    [Privacy Policy](#)    [Accessibility](#)

[Accessibility Certification](#)

Copyright © 2026 State of California



1000001051 - ALL AMERICAN ASPHALT

## Customer Account Lookup

PWCR

1000001051

Contractor Status

DIR Approved

CSLB

267073

Business Phone

951-736-7600

Ext

Registration Start Date

2023-07-01

Legal Entity Name

ALL AMERICAN ASPHALT

Doing Business As (DBA)

All American Asphalt

Business Structure

Corporation - S corp

President

Mark Luer

Email

publicworks@allamericanasphalt.com

Registration End Date

2026-06-30

Crafts

Operating Engineer

Laborer and Related Classifications

Parking and Highway Improvement (Striping, Slurry and Seal Coat Operations-Laborer)

Cement Mason

## Address

Mailing Address

400 E SIXTH ST

Mailing Address - City

CORONA

Mailing Address - State

CA

Mailing Address - Zip

92879

Mailing Address - Country

US

Physical Address

Physical Address - City

Physical Address - State

Physical Address - Zip

Physical Address - Country

## Related Lists

Registration Dates (8)

[Terms &  
Conditions](#)

[Privacy  
Policy](#)

[Disclaimer](#)

[Nondiscrimination  
Notice](#)

[Accessibility](#)

[dir.ca.gov](#)

Copyright  
2024 State  
of  
California



Home

CONTRACTORS STATE LICENSE BOARD



## Contractor's License Detail for License # 654506

**DISCLAIMER: A license status check provides information taken from the CSLB license database. Before relying on this information, you should be aware of the following limitations.**

- ▶ CSLB complaint disclosure is restricted by law ([B&P 7124.6](#)) If this entity is subject to public complaint disclosure click on link that will appear below for more information. Click [here](#) for a definition of disclosable actions.
- ▶ Only construction related civil judgments reported to CSLB are disclosed ([B&P 7071.17](#)).
- ▶ Arbitrations are not listed unless the contractor fails to comply with the terms.
- ▶ Due to workload, there may be relevant information that has not yet been entered into the board's license database.

Data current as of 1/6/2026 10:09:30 AM

### Business Information

V & E TREE SERVICE INC  
dba V & E LANDSCAPE & MAINTENANCE

2425 N BATAVIA ST  
ORANGE, CA 92865  
Business Phone Number:(714) 997-0903

**Entity** Corporation  
**Issue Date** 09/21/1992  
**Expire Date** **09/30/2026**

### License Status

**This license is current and active.**

**All information below should be reviewed.**

### Classifications

- ▶ [C27 - LANDSCAPING](#)
- ▶ [C49 - TREE AND PALM](#)

### Bonding Information

#### Contractor's Bond

This license filed a Contractor's Bond with [AMERICAN CONTRACTORS INDEMNITY COMPANY](#).

**Bond Number:** SC1012467

**Bond Amount:** \$25,000

**Effective Date:** 01/01/2023

[Contractor's Bond History](#)

#### Bond of Qualifying Individual

- ▶ The qualifying individual EDWARD KROENER ARCHIBALD certified that he/she owns 10 percent or more of the voting stock/membership interest of this company; therefore, the Bond of Qualifying Individual is not required.

**Effective Date:** 09/23/1999

[BQI's Bond History](#)

- ▶ This license filed Bond of Qualifying Individual number **100918625** for DALE WILLIAM GEE in the amount of **\$25,000** with [AMERICAN CONTRACTORS INDEMNITY COMPANY](#).

**Effective Date:** 12/31/2024

This license has workers compensation insurance with the [OMAHA NATIONAL CASUALTY COMPANY](#)

**Policy Number:**ONCC1701268901

**Effective Date:** 05/05/2025

**Expire Date:** 05/05/2026

[Workers' Compensation History](#)

**Workers' compensation classification code(s):**

0042 - Landscape Gardening

0106 - Tree Pruning/Repairing/Trimming

For a description of the workers' compensation classification code(s) listed for this licensee, contact the licensee's insurance carrier. Contact information for the licensee's insurer is available by clicking the insurer link above. Classification codes are also available on the Workers' Compensation Insurance Rating Bureau's classification search page.

**The board does not verify or investigate the accuracy of classification codes displayed.**

[Back to Top](#)    [Conditions of Use](#)    [Privacy Policy](#)    [Accessibility](#)

[Accessibility Certification](#)

Copyright © 2026 State of California

# BOARD FOR PROFESSIONAL ENGINEERS, LAND SURVEYORS, AND GEOLOGISTS

## LICENSING DETAILS FOR: 5411

**NAME:** CASE, LARRY VICTOR

**LICENSE TYPE:** LAND SURVEYOR

**LICENSE STATUS:** CLEAR  
**ADDRESS**

614 N ECKHOFF ST  
ORANGE CA 92868  
ORANGE COUNTY

**ISSUANCE DATE**

MARCH 16, 1984

**EXPIRATION DATE**

SEPTEMBER 30, 2026

**CURRENT DATE / TIME**

JANUARY 6, 2026  
10:12:36 AM

## PUBLIC DOCUMENTS

- ^ DOCUMENTS (1)

**DOCUMENT:** [LINK](#)



Home

CONTRACTORS STATE LICENSE BOARD



## Contractor's License Detail for License # 1118574

**DISCLAIMER: A license status check provides information taken from the CSLB license database. Before relying on this information, you should be aware of the following limitations.**

- CSLB complaint disclosure is restricted by law ([B&P 7124.6](#)) If this entity is subject to public complaint disclosure click on link that will appear below for more information. Click [here](#) for a definition of disclosable actions.
- Only construction related civil judgments reported to CSLB are disclosed ([B&P 7071.17](#)).
- Arbitrations are not listed unless the contractor fails to comply with the terms.
- Due to workload, there may be relevant information that has not yet been entered into the board's license database.

Data current as of 1/6/2026 10:13:06 AM

### Business Information

DUFFY GENERAL ENGINEERING INC  
31544 MILLCREEK DR  
MENIFEE, CA 92584  
Business Phone Number:(951) 378-7334

**Entity** Corporation  
**Issue Date** 03/27/2024  
**Expire Date** **03/31/2026**

### License Status

**This license is current and active.**

**All information below should be reviewed.**

### Classifications

[A - GENERAL ENGINEERING](#)

### Bonding Information

#### Contractor's Bond

This license filed a Contractor's Bond with [AMERICAN CONTRACTORS INDEMNITY COMPANY](#).

**Bond Number:** 100843368

**Bond Amount:** \$25,000

**Effective Date:** 03/18/2024

#### Bond of Qualifying Individual

The qualifying individual NICHOLAS DANIEL DUFFY certified that he/she owns 10 percent or more of the voting stock/membership interest of this company; therefore, the Bond of Qualifying Individual is not required.

**Effective Date:** 03/27/2024

### Workers' Compensation

This license has workers compensation insurance with the [STATE COMPENSATION INSURANCE FUND](#)

**Policy Number:** 9385571

**Effective Date:** 08/15/2025

**Expire Date:** 08/15/2026

[Workers' Compensation History](#)

### Other

- Personnel listed on this license (current or disassociated) are listed on other licenses.





Home

CONTRACTORS STATE LICENSE BOARD



## Contractor's License Detail for License # 806122

**DISCLAIMER: A license status check provides information taken from the CSLB license database. Before relying on this information, you should be aware of the following limitations.**

- CSLB complaint disclosure is restricted by law ([B&P 7124.6](#)) If this entity is subject to public complaint disclosure click on link that will appear below for more information. Click [here](#) for a definition of disclosable actions.
- Only construction related civil judgments reported to CSLB are disclosed ([B&P 7071.17](#)).
- Arbitrations are not listed unless the contractor fails to comply with the terms.
- Due to workload, there may be relevant information that has not yet been entered into the board's license database.

Data current as of 1/6/2026 10:14:38 AM

### Business Information

KATO LANDSCAPE INC  
18182 BUSHARD STREET  
FOUNTAIN VALLEY, CA 92708  
Business Phone Number:(714) 963-4615

**Entity** Corporation  
**Issue Date** 03/29/2002  
**Expire Date** **03/31/2026**

### License Status

**This license is current and active.**

**All information below should be reviewed.**

### Classifications

[C27 - LANDSCAPING](#)

### Bonding Information

#### Contractor's Bond

This license filed a Contractor's Bond with [WESTERN SURETY COMPANY](#).

**Bond Number:** 65146004

**Bond Amount:** \$25,000

**Effective Date:** 01/01/2023

[Contractor's Bond History](#)

#### Bond of Qualifying Individual

The qualifying individual RANDAL HITOSHI KATO certified that he/she owns 10 percent or more of the voting stock/membership interest of this company; therefore, the Bond of Qualifying Individual is not required.

**Effective Date:** 01/06/2020

### Workers' Compensation

This license has workers compensation insurance with the [WEST AMERICAN INSURANCE COMPANY](#)

**Policy Number:**XWW56365427

**Effective Date:** 02/15/2015

**Expire Date:** 02/15/2026

[Workers' Compensation History](#)

[Back to Top](#)

[Conditions of Use](#)

[Privacy Policy](#)

[Accessibility](#)

[Accessibility Certification](#)

Copyright © 2026 State of California



Home

CONTRACTORS STATE LICENSE BOARD



## Contractor's License Detail for License # 415490

**DISCLAIMER: A license status check provides information taken from the CSLB license database. Before relying on this information, you should be aware of the following limitations.**

- ▶ CSLB complaint disclosure is restricted by law ([B&P 7124.6](#)) If this entity is subject to public complaint disclosure click on link that will appear below for more information. Click [here](#) for a definition of disclosable actions.
- ▶ Only construction related civil judgments reported to CSLB are disclosed ([B&P 7071.17](#)).
- ▶ Arbitrations are not listed unless the contractor fails to comply with the terms.
- ▶ Due to workload, there may be relevant information that has not yet been entered into the board's license database.

Data current as of 1/6/2026 10:15:18 AM

### Business Information

WGJ ENTERPRISES INC  
dba PCI

975 W 1ST STREET  
AZUSA, CA 91702  
Business Phone Number:(562) 218-0504

**Entity** Corporation  
**Issue Date** 12/15/1981  
**Reissue Date** 07/28/2021  
**Expire Date** **07/31/2027**

### License Status

**This license is current and active.**

**All information below should be reviewed.**

### Classifications

- ▶ [C32 - PARKING AND HIGHWAY IMPROVEMENT](#)
- ▶ [C-61 / D42 - NON-ELECTRICAL SIGN INSTALLATION](#)

### Bonding Information

#### Contractor's Bond

This license filed a Contractor's Bond with [OHIO CASUALTY INSURANCE COMPANY \(THE\)](#).

**Bond Number:** 999246187

**Bond Amount:** \$25,000

**Effective Date:** 04/23/2023

[Contractor's Bond History](#)

#### Bond of Qualifying Individual

The qualifying individual WILLIAM GARLAND JACOB certified that he/she owns 10 percent or more of the voting stock/membership interest of this company; therefore, the Bond of Qualifying Individual is not required.

**Effective Date:** 07/28/2021

This license has workers compensation insurance with the [FEDERAL INSURANCE COMPANY](#)

**Policy Number:**54326622

**Effective Date:** 11/01/2023

**Expire Date:** 11/01/2026

[Workers' Compensation History](#)

**Workers' compensation classification code(s):**

5506 - Street/Road Construction-paving

8810 - Clerical Office Employees

8742 - Salespersons-Outside

For a description of the workers' compensation classification code(s) listed for this licensee, contact the licensee's insurance carrier. Contact information for the licensee's insurer is available by clicking the insurer link above. Classification codes are also available on the Workers' Compensation Insurance Rating Bureau's classification search page.

**The board does not verify or investigate the accuracy of classification codes displayed.**

Miscellaneous Information

- ▶ 07/28/2021 - LICENSE REISSUED TO ANOTHER ENTITY

[Back to Top](#)    [Conditions of Use](#)    [Privacy Policy](#)    [Accessibility](#)

[Accessibility Certification](#)

Copyright © 2026 State of California



Home

CONTRACTORS STATE LICENSE BOARD



## Contractor's License Detail for License # 738518

**DISCLAIMER: A license status check provides information taken from the CSLB license database. Before relying on this information, you should be aware of the following limitations.**

- ▶ CSLB complaint disclosure is restricted by law ([B&P 7124.6](#)) If this entity is subject to public complaint disclosure click on link that will appear below for more information. Click [here](#) for a definition of disclosable actions.
- ▶ Only construction related civil judgments reported to CSLB are disclosed ([B&P 7071.17](#)).
- ▶ Arbitrations are not listed unless the contractor fails to comply with the terms.
- ▶ Due to workload, there may be relevant information that has not yet been entered into the board's license database.

Data current as of 1/6/2026 10:16:30 AM

### Business Information

ELECNOR BELCO ELECTRIC INC  
14320 ALBERS WAY  
CHINO, CA 91710  
Business Phone Number:(909) 993-5470

**Entity** Corporation  
**Issue Date** 07/28/1997  
**Expire Date** **07/31/2027**

### License Status

**This license is current and active.**

**All information below should be reviewed.**

### Classifications

- ▶ [C10 - ELECTRICAL](#)
- ▶ [B - GENERAL BUILDING](#)
- ▶ [A - GENERAL ENGINEERING](#)

### Bonding Information

#### Contractor's Bond

This license filed a Contractor's Bond with [LIBERTY MUTUAL INSURANCE COMPANY](#).

**Bond Number:** 015221477

**Bond Amount:** \$25,000

**Effective Date:** 08/01/2023

[Contractor's Bond History](#)

#### Bond of Qualifying Individual

This license filed Bond of Qualifying Individual number **015222042** for JOHN LOON-HAE WONG in the amount of **\$25,000** with [LIBERTY MUTUAL INSURANCE COMPANY](#).

**Effective Date:** 07/31/2023

[BQI's Bond History](#)

This license has workers compensation insurance with the [NORTH POINTE INSURANCE COMPANY](#)

**Policy Number:**155000127

**Effective Date:** 11/01/2025

**Expire Date:** 11/01/2026

[Workers' Compensation History](#)

**Workers' compensation classification code(s):**

6325 - Conduit Construction/Underground Wiring

5606 - Contractors-executive level supervisors

8742 - Salespersons-Outside

For a description of the workers' compensation classification code(s) listed for this licensee, contact the licensee's insurance carrier. Contact information for the licensee's insurer is available by clicking the insurer link above. Classification codes are also available on the Workers' Compensation Insurance Rating Bureau's classification search page.

**The board does not verify or investigate the accuracy of classification codes displayed.**

Other

- ▶ Personnel listed on this license (current or disassociated) are listed on other licenses.

[Back to Top](#)

[Conditions of Use](#)

[Privacy Policy](#)

[Accessibility](#)

[Accessibility Certification](#)

Copyright © 2026 State of California



1000001936 - V&E Tree Service

## Customer Account Lookup

PWCR

1000001936

Contractor Status

DIR Approved

CSLB

Business Phone

7149970903

Ext

Registration Start Date

2025-07-01

Legal Entity Name

V&E Tree Service

Doing Business As (DBA)

V&E TREE SERVICE

Business Structure

-- None --

President

Edward Archibald

Email

ashleigh@vetreeservice.com

Registration End Date

2028-06-30

Crafts

Laborer and Related Classifications

Landscape Maintenance Laborer

Tree Maintenance (Laborer)

Landscape/Irrigation Laborer/Tender

LABORER

## Address

Mailing Address

2425 N BATAVIA ST

Mailing Address - City

ORANGE

Mailing Address - State

CA

Mailing Address - Zip

92865

Mailing Address - Country

United States

Physical Address

Physical Address - City

Physical Address - State

Physical Address - Zip

Physical Address - Country

## Related Lists

Registration Dates (8)

[Terms & Conditions](#)

[Privacy Policy](#)

[Disclaimer](#)

[Nondiscrimination Notice](#)

[Accessibility](#)

[dir.ca.gov](#)

Copyright  
2024 State  
of  
California



1000001533 - CASE LAND SURVEYING, INC.

## Customer Account Lookup

PWCR

1000001533

Contractor Status

DIR Approved

CSLB

Business Phone

714-628-8948

Ext

Registration Start Date

2025-07-01

Legal Entity Name

CASE LAND SURVEYING, INC.

Doing Business As (DBA)

Case Land Surveying, Inc.

Business Structure

-- None --

President

Larry Case

Email

clsi@caselandsurveying.com

Registration End Date

2026-06-30

Crafts

Field Surveyor

## Address

Mailing Address

614 N. ECKHOFF STREET

Mailing Address - City

ORANGE

Mailing Address - State

CA

Mailing Address - Zip

92868

Mailing Address - Country

United States

Physical Address

Physical Address - City

Physical Address - State

Physical Address - Zip

Physical Address - Country

## Related Lists

Registration Dates [\(12\)](#)

[Terms & Conditions](#)

[Privacy Policy](#)

[Disclaimer](#)

[Nondiscrimination Notice](#)

[Accessibility](#)

[dir.ca.gov](#)

Copyright  
2024 State  
of  
California



1001154440 - Duffy General Engineering Inc.

## Customer Account Lookup

PWCR

1001154440

Contractor Status

DIR Approved

CSLB

1118574

Business Phone

9093763667

Ext

Registration Start Date

2025-07-01

Legal Entity Name

Duffy General Engineering Inc.

Doing Business As (DBA)

Duffy General Engineering Inc.

Business Structure

-- None --

President

Lindsey Heuer-Duffy

Email

duffy838@gmail.com

Registration End Date

2026-06-30

Crafts

Tunnel/Underground (Operating Engineer - Heavy and Highway Work)

## Address

Mailing Address

31544 MILLCREEK DR

Mailing Address - City

MENIFEE

Mailing Address - State

CA

Mailing Address - Zip

92584-8575

Mailing Address - Country

CA

Physical Address

31544 MILLCREEK DR

Physical Address - City

MENIFEE

Physical Address - State

CA

Physical Address - Zip

92584-8575

Physical Address - Country

## Related Lists

Registration Dates (2)

[Terms & Conditions](#)

[Privacy Policy](#)

[Disclaimer](#)

[Nondiscrimination Notice](#)

[Accessibility](#)

[dir.ca.gov](#)

Copyright  
2024 State  
of  
California



1000000086 - KATO LANDSCAPE, INC.

## Customer Account Lookup

PWCR

1000000086

Contractor Status

DIR Approved

CSLB

806122

Business Phone

714-963-4615

Ext

Registration Start Date

2025-07-01

Legal Entity Name

KATO LANDSCAPE, INC.

Doing Business As (DBA)

Kato Landscape Inc

Business Structure

Corporation - S corp

President

Randal Kato

Email

van@katolandscaping.com

Registration End Date

2028-06-30

Crafts

Laborer and Related Classifications

Landscape/Irrigation Laborer/Tender

Landscape Operating Engineer

Operating Engineer

Plumber

## Address

Mailing Address

18182 Bushard Street

Mailing Address - City

Fountain Valley

Mailing Address - State

California (CA)

Mailing Address - Zip

92708

Mailing Address - Country

USA

Physical Address

18182 BUSHARD STREET

Physical Address - City

FOUNTAIN VALLEY

Physical Address - State

CA

Physical Address - Zip

92708

Physical Address - Country

## Related Lists

Registration Dates 

[Terms & Conditions](#)

[Privacy Policy](#)

[Disclaimer](#)

[Nondiscrimination Notice](#)

[Accessibility](#)

[dir.ca.gov](#)

Copyright  
2024 State  
of  
California



1000813536 - PCI

## Customer Account Lookup

PWCR

1000813536

Contractor Status

DIR Approved

CSLB

415490

Business Phone

5622180504

Ext

Registration Start Date

2025-07-01

Legal Entity Name

PCI

Doing Business As (DBA)

PCI

Business Structure

Corporation - S corp

President

William G. Jacob

Email

payroll@lineuppci.com

Registration End Date

2028-06-30

Crafts

Parking/Highway/Improvement

Parking and Highway Improvement (Striping, Slurry and Seal Coat Operations-Laborer)

Parking and Highway Improvement Painter (Laborer)

Parking and Highway Improvement Painter (Painter)

## Address

Mailing Address

975 W 1st Street

Mailing Address - City

Azusa

Mailing Address - State

CA

Mailing Address - Zip

91702

Mailing Address - Country

United States

Physical Address

Physical Address - City

Physical Address - State

Physical Address - Zip

Physical Address - Country

## Related Lists

Registration Dates (3)

[Terms & Conditions](#)

[Privacy Policy](#)

[Disclaimer](#)

[Nondiscrimination Notice](#)

[Accessibility](#)

[dir.ca.gov](#)

Copyright  
2024 State  
of  
California



1000004804 - ELECNOR BELCO ELECTRIC, INC.

## Customer Account Lookup

PWCR

1000004804

Contractor Status

DIR Approved

CSLB

738518

Business Phone

9099935470

Ext

Registration Start Date

2025-07-01

Legal Entity Name

ELECNOR BELCO ELECTRIC, INC.

Doing Business As (DBA)

Elecnor Belco Electric, Inc.

Business Structure

-- None --

President

Alberto Garcia De Los Angeles

Email

rwilks@elecnor.com

Registration End Date

2028-06-30

Crafts

Operating Engineer    Laborer and Related Classifications (Building Construction)    Electrician  
Cement Mason    Horizontal Directional Drilling (Laborer)    LABORER  
Laborer and Related Classifications

## Address

Mailing Address

14320 Albers Way

Mailing Address - City

Chino

Mailing Address - State

California

Mailing Address - Zip

91710

Mailing Address - Country

United States

Physical Address

Physical Address - City

Physical Address - State

Physical Address - Zip

Physical Address - Country

## Related Lists

Registration Dates (8)

[Terms &  
Conditions](#)

[Privacy  
Policy](#)

[Disclaimer](#)

[Nondiscrimination  
Notice](#)

[Accessibility](#)

[dir.ca.gov](#)

Copyright  
2024 State  
of  
California

# DLSE Debarments

The following is a list of contractors barred from bidding on, accepting, or performing any public works contracts, either as a contractor or subcontractor. Please refer to the “Period of Debarment” for status of debarment period as noted below:

As part of your due diligence, we suggest that you also check:

- [Contractor status at the Contractors State License Board \(CSLB\)](#)
- [The Federal debarment list at the Excluded Parties List System](#)

Name of contractor	Period of debarment
<b>MILES CONSTRUCTION GROUP, INC., a California Corporation; COLTON JAMES WHITE, an individual and in his capacity as Chief Executive Officer and Responsible Managing Employee of MILES CONSTRUCTION GROUP, INC.</b>	<b>7/23/2025 through 7/23/2028</b> <a href="#">Decision 40-63204</a> 
CSLB License Number: 976339.	
<b>UNIQUE CONSTRUCTION &amp; DEVELOPMENT, INC.; CHONG GIL LEE, an individual and CEO of UNIQUE CONSTRUCTION &amp; DEVELOPMENT, INC.; and JAMES LEE, an individual and CFO of UNIQUE CONSTRUCTION &amp; DEVELOPMENT, INC.</b>	<b>7/1/2025 through 7/1/2028</b> <a href="#">Decision 40-76516-977</a> 
CSLB License Number: 830772.	
<b>MICHAEL FLOORING, INC.; BENNY MICHAEL</b>	<b>9/13/24 through 9/13/27</b> <a href="#">Decision SC 7278</a> 
CSLB License Number: 874947	The debarment order is currently stayed by order of the Kern County Superior Court



TOBO CONSTRUCTION, INC.;  
JIMI WAN CHAE; MONICA SHIUN OH;  
KYUNG JIN YOON,

5/10/2023 through 5/10/2026

[Decision SC 7250](#) 

CSLB License Number: 758012

G M Climate Control, Inc.

3/2/2023 through 9/2/2024

[Decision 40-71536-603](#) 

CSLB License Number: 967267

MINAKO AMERICA CORPORATION DBA MINCO  
CONSTRUCTION;  
AND REFAAT HILMAY MINA,

9/27/2021 through 9/26/2022

[Decision LB 6333](#) 

CSLB License Number: 612429

GRFCO, INC. DBA ONSITE KRUSHING;  
GARCIA JUAREZ CONSTRUCTION, INC.;  
GEORGE ROBERT FROST; AND JAMES CRAIG JACKSON

5/21/2021 through 5/20/2024

[Decision LB 6629](#) 

CSLB License Number: 291013 and 84801

ECS CONTRACTORS, INC. dba ECS ELECTRIC, INC.; UMAR  
KHALID RANA, an individual and CEO/RMO of ECS  
CONTRACTORS, INC.; and KANWAL SAJJAD RANA, an  
individual and RMO of ECS CONTRACTORS, INC.

3/1/2020 through 3/1/2023

[Decision LB 5590](#) 

CSLB License Number: 975222

Avi Shechter, Individually  
DBA Avi Shechter

5/6/2019 through 5/5/2022

[Decision LB 6328](#) 

CSLB Number: 908891 and 1018353

Patrick Kim, Individually  
DBA Ritecon Plumbing

8/21/2018 through 8/20/2019

[Decision LB 6762](#) 

CSLB Number: 991018

Bighorn Construction, Inc.

5/5/2018 through 5/4/2021

[Decision LB 6658](#) 

CSLB Number: 597866

Doug Parks, Individually dba

10/11/2017 through 10/10/2019

[Decision SC 5807](#) 

CSLB Number: 411825

Worthington Construction, Inc.;

6/15/2018 through 9/16/2019

[Decision LB 5267](#) 

Dale Worthington, an individual and CEO/RMO of

Worthington Construction, Inc.; and,

Holi Jeanne Worthington, an individual and Officer of

Worthington Construction

CSLB Number: 714836

RMV Construction, Inc., A California Corporation; and Robert

4/1/2017 through 8/18/2018

[Decision LB 5266](#) 

Michael Vasil II a.k.a. Robert Michael Vasil a.k.a.

Mike Vasil, an Individual and CEO/RMO President of RMV

Construction, Inc.

CSLB Number: 892389

Gewargis Youkhanis Narso, an individual dba

2/1/2017 through 1/31/2020

[Decision 40-48480-516](#) 

GEHVAC and Technologies, a sole proprietorship,

And GEHVAC Co., a sole proprietorship

CSLB Number: 899312 and 1013848

Joseph Brothers Enterprise, Inc.; Ken Joseph Individually and

4/3/2018 through 10/3/2019

[Decision SC 6390](#) 

as CEO

CSLB Number: 849169

Dave Cook Concrete Construction, Inc., and David William  
Cook

3/1/2017 through 2/29/2020

[Decision LB 6207](#) 

34231 Camino Capistrano #102  
Capistrano Beach, CA 92624-1189

Bannaoun Engineers Constructors Corporation; Omar Maloof, An Individual  
P.O. Box 16599  
Beverly Hills, CA 90209-2599

05/12/17 through 05/11/20  
[Decision SC 5517](#) 

CSLB Number: 827829

Evans Roofing Co., Inc.  
2020 South Yale Street  
Santa Ana, CA 92706

10/31/16 through 10/30/19  
[Decision LB 6270](#) 

CSLB Number: 610549

Guillermo Ibaibarriaga dba Sierra Nevada Stucco and 2K Roofing  
Sierra Nevada Stucco  
P.O. Box 8472  
Reno, NV 89502  
CSLB Number: 915812

05/14/17 through 05/13/20  
[Decision SC 6037](#) 

2K Roofing  
820 Kuenzli Street  
Reno, NV 89502  
CSLB Number: 954551

Del Norte Construction, And Trinidad Manuel Canales, an Individual  
PO Box 5101  
Oxnard, CA 93030

6/01/16 through 5/31/17  
[Decision LB 5533](#) 

5020 Wooley Rd.  
Oxnard, CA 93030  
CSLB Number: #945723

Diversified Building & Electric Company, Inc.  
409 Tennant Station  
Morgan Hill, CA 95037

2/15/16 through 8/15/17  
[Decision SC 5714](#) 

Denis Andrew Maris, Individually and Doing Business as  
Diversified Electric Company

CSLB Number: #765312

**Fast Demolition, Inc.**

601-C East Palomar Street #123  
Chula Vista, CA 91911  
CSLB Number: #792729

4/1/44 through 3/31/47

[Decision LB5742](#) 

4/1/41 through 3/31/44

[Decision LB5665](#) 

4/1/36 through 3/31/39

[Decision LB5740](#) 

4/1/33 through 3/31/37

[Decision LB5651](#) 

4/1/33 through 3/31/37

[Decision LB5739](#) 

4/1/24 through 3/31/27

[Decision LB5741](#) 

4/1/30 through 3/31/33

[Decision LB5743](#) 

4/1/27 through 3/31/30

[Decision LB5666](#) 

4/1/21 through 3/31/24

[Decision LB5667](#) 

4/1/18 through 3/31/21

[Decision LB5668](#) 

4/01/15 through 3/31/18

[Decision LB5345](#) 

**Amerivet Plumbing, Inc.; Walter Edward Jacob Kuhlmann III,  
Individually And dba Amerivet Plumbing Services**  
CSLB Number: #969048 and #919761

8/6/15 through 8/5/18

[Decision SC 5756](#) 

**Ultimate Inc., And, Enrique Vera, an Individual  
PO Box 571117**

12/1/15 through 11/30/18

[Decision LB 5655 & LBS659](#) 

**Travioli Construction, Inc.**  
PO Box 231  
Visalia, CA 93274  
CSLB Number: #936832

9/11/15 through 3/10/17  
[Decision SC 5800](#) 

**Integrity Sheet Metal, Inc.**  
319 McArthur Way  
Upland, CA 91786  
CSLB #726770

2/01/15 through 1/31/18  
[Decision LB 5596](#) 

**William Ben Hicks, an individual;**  
**Margaret Mary Hicks, an individual**

**L A Builders, Inc., a California Corporation**  
15635 Saticoy Street, #H  
Van Nuys, CA 91406  
CSLB #748591

2/01/15 through 1/31/18  
[Decision LB5 171](#) 

**Alon Gamliel, an individual**

**USA Wall Systems, Inc.**  
8309 Sunshine Lane  
Riverside, CA 92508  
CSLB #929610

4/01/15 through 3/31/18  
[Decision LB 5323](#) 

**Edward Eugene Brammer, an individual**  
and in his capacity as President/CEO/RMO

**Daughter Construction**  
formerly dba Hy Carpentry Construction  
15407 Thornlake Avenue  
Norwalk, CA 90650  
CSLB #979297

4/01/15 through 3/31/18  
[Decision LB 5466, LB5467, LB5468 & LB5520](#) 

**Sharon Jin Yoo, an individual;**  
**Dae Hyun Yoo, an individual**  
and in his capacity as manager/supervisor for Sharon Jin Yoo

and in his capacity as General Partner for HY Construction, a General Partnership.

**RDA Construction, Inc.**

1692 W. Bullard Ave.,  
Fresno, CA 93711  
CSLB# 383306

12/15/14 through 12/14/16

Decision 40-40508-522 & 44-40509-  
522 

**Titan Electrical Construction, Inc.**

Lucas Oliver Stickney, an individual  
Jamie Noel Furr, an individual  
630 Natoma Street  
San Francisco, CA 94103  
CSLB# 919516

11/3/14 through 11/2/17

Decision SC 5539 

**Ramos Painting**

Carlos Ray Ramos, an individual  
P.O. Box 3871  
Paso Robles, CA 93447  
CSLB# 753575

11/3/14 through 11/2/15

Decision SC 5518 

**Dick Emard Electric.**

dba Emard Electric Luke Richard Emard, an individual and  
RMO  
5930 Key Court, Suite A  
Loomis, CA 95650  
CSLB# 794007

11/3/14 thorough 11/2/17

Decision SC 5521 

**Nixon Electric**

Gordon Fulton Nixon, an individual  
5624 Faust Ave.  
Woodland Hills, CA 91367  
CSLB# 796802

8/1/14 through 7/31/17

Decision LB 4495 

**Neris General Contractors, a California Corporation**

Efren Neri, an individual  
Servando Neri, an individual  
Rebeca Neri, an individual  
Luis Abelardo Castro, an individual  
6087 California Ave.

2/28/14 through 2/27/17

Decision LB 4511, LB4512 & LB4521 

<b>Southland Construction</b> Reza Mohammedi, an individual 3943 Irvine Blvd., #405, Irvine, CA 92602 CSLB# 663784 (expired)	10/14/14 through 10/13/17 <a href="#">Decision SAC 5492</a> 
<b>National Drywall Corporation, A Dissolved California Corporation</b> 603 S. Milliken Avenue, Suite F Ontario, CA 91761 CSLB #834335	8/4/14 through 8/3/17 <a href="#">Decision SAC 5506</a> 
<b>Miguel Contreras, an Individual and Responsible Managing Officer/CEO/President</b>  <b>Dora Maria Contreras, an Individual and Agent/Officer of the Corporation</b>	
<b>Tadros &amp; Youssef Construction, Inc.</b> <b>Kamel Shaker Tadros &amp; Makram Youssef Youssef, Individually</b> 1221 E 8th Street, Unit A, Upland, CA 91786  CSLB# 698182 (expired)	5/10/14 through 5/9/17 <a href="#">Decision SAC 5308</a> 
<b>Serenity Fire Protection</b> 417 S. Associated Road, Brea, CA 92821  CSLB# 902927	5/1/14 through 4/30/17 <a href="#">Decision LB 4202</a> 
<b>Don Kelly Construction , Inc.</b> <b>Don Kelly, Individual and Lisa Kelly, Individual</b> 171 Northview Ridge Lane, P.O. Box 10760, Bozeman, MT 59719	3/25/14 through 3/24/17 <a href="#">Decision LB 4484</a> 
<b>Aldan, Inc.</b> P.O. Box 9428, Brea, CA 92822	2/28/14 through 2/27/17 <a href="#">Decision LB5175</a> 

Russell/Thompson, Inc. James Jean Russell & Valery Alena Thompson, Individually 4684 Oak Glen Dr., Redding, CA 96001  CSLB# 915036 (revoked)	10/31/13 through 10/31/16 <a href="#">Decision SC 5309</a> 
Ayodejia A. Ogundare, Individual Dba Pacific Engineering Company 6310 Stewart Way, Bakersfield, CA 93308  CLSB#710322	5/15/2013 through 5/15/2014 <a href="#">Decision SAC 1039</a> 
Wallcrete Industries, Inc.; Garit David Wallace and Amber Anderson, Individuals 400 Kansas, Redlands, CA 92373  CSLB#834220	7/29/12 through 7/28/15 <a href="#">Decision SAC 5175</a> 
FEI Enterprises, Inc Gabriel Fedida, Individual 5749 Venice Blvd., Los Angeles, CA 90019  CSLB#659252	6/14/12 through 6/13/15 <a href="#">Decision SC 5198</a> 
Jeffrey Alan Mott and Michelle Mott, individuals Dda Integrity Landscape 3756 Independence Avenue Sanger, CA 93637  CSLB#774222	3/29/12 through 3/28/15 <a href="#">Decision SC 5160</a> 
Jensen Drywall & Stucco Jeffrey E. Jensen 3714 Lynda Place National City, CA 91950-8121 CSB # 664168 Exp. 2/18/11 (expired)	3/31/11 through 3/30/13 <a href="#">Decision SC 5095</a> 

All West Construction, Inc.

3/31/11 through 3/30/13

Donald Kent Russell

[Decision se 5013](#) 

495 N. Marks Ave.

Fresno, CA 93706

CSB # 592321 Exp. 4/3/12 (suspended)

Country Builders, Inc.

3/1/11 through 2/28/14

Weldon Offill, individually

[Decision SC 5053](#) 

5915 Graham Ct.

[Addendum SC 5053](#) 

Livermore, CA 94550

CSB # 699574 Exp. 11/30/12 (active)

Sutter Foam & Coating, Inc.

7/1/10 through 6/30/13

909 A. George Washington

[Decision SAC 5012](#) 

Yuba City, CA 95993

CSB # 732014 Exp. 1/31/09 (inactive)

David Alvin Trexler, an individual

909 A. George Washington

Yuba City, CA 95993

Kenneth A. Trexler, an individual

2603 Lago Lane

Marysville, CA 95901

Soo Dong Kim, an individual,

4/19/10 through 4/18/13

dba Soo Kim Electric Company

[Decision SAC 1064](#) 

16224 Ridgeview Lane

La Mirada, CA 90638

CSB # 568103 Exp. 8/1/09 (inactive)

Hyo Nam Jung, an individual,

dba Lucid Electric

18621 Well Street

Rowland Heights, CA 91748

CSB # 914692 Exp. 4/3/10

Southwest Grading,

3/18/10 through 3/17/13

dba Southwest Grading Services, Inc.,

[Decision SAC 1058](#) 

22031 Waite Street

Wildomar, CA 92595

David Walter Cholewinski, an individual  
22031 Waite Street  
Wildomar, A 92595  
29970 Technology Drive, Ste. 205  
Murrieta, CA 92563  
CSB #840416 Exp. 6/30/10

**S.J. Cimino Electric, Inc., a California corporation,** 10/15/09 through 10/14/12  
3267 Dutton Ave. [Decision SAC 1052](#)   
Santa Rosa, CA 95404

**Salvatore Joseph Cimino, RMO, CEO and President of S.J.**  
**Cimino Electric, Inc. and sole owner of S.J. Cimino**  
**Electric, an individual**  
5825 Heights Rd.  
Santa Rosa, CA 95401  
CSB #343802 Exp. 2/28/10  
CSB #294141 Exp. 9/30/13 (inactive)

**Cedar Development Corporation** 8/5/09 through 8/4/12  
**Serghon Gabriel Afram, individually** [Decision SAC 1042](#)   
12477 Feather Dr  
Mira Loma, CA 91752  
CSB # 839898 Exp. 6/30/10 (suspended)

**All Floors Commercial and Residential Flooring, Inc.** 5/14/09 through 5/13/12  
**Salvador Elias Perea, individually** [Decision SAC 1040](#)   
750 E. McGlinchy Lane, #103  
Campbell, CA 95008  
CSB #430969 Exp. 7/31/09

**1-AMD Construction, Inc.** 3/16/09 through 3/15/12  
**Alberto Mordoki, individually** [Decision SAC1037](#)   
**Mirella Mordoki, individually**  
5300 Beach Blvd., Suite 110-416  
Buena Park, CA 90621  
CSB #787533, revoked

*Updated: July 2025*



Revolutionary FAR Overhaul Impacts to SAM.gov [Show Details](#) X

[See All Alerts](#)

Records Retention Policy Impacts Old SAM Registration Data [Show Details](#) X



Home Search Data Bank Data Services Help

Search

All Words e.g. 1606N020Q02

Search Results

[Saved Searches](#)



Filter By

### Keyword Search

For more information on how to use our keyword search, visit our [help guide](#)

[Simple Search](#)

[Search Editor](#)

- Any Words i
- All Words i
- Exact Phrase i

e.g. 123456789, Smith Corp

"All American Asphalt"	X
"V&E Tree Service"	X
"Case Land Surveying"	X
"Duffy General Engineering"	X
"Kato Landscape"	X
"WGJ Enterprises"	X
"Elecnor Belco Electric"	X

Classification



Excluded Individual



Excluded Entity



Entity Name

e.g. ABC Inc



### Unique Entity ID

e.g. HTYR9YJHK65L



### CAGE / NCAGE

Enter CAGE/NCAGE Code



Federal Organizations



Exclusion Type



Exclusion Program



Location



Dates



Reset

**Entity Information** ^



**Entities**

**Disaster Response Registry**

**Responsibility / Qualification**

**Exclusions**



## No matches found

We couldn't find a match for your search criteria.

Please try another search or go back to previous results.

[Go Back](#)



Feedback

### Our Website

[About This Site](#)

[Our Community](#)

[Release Notes](#)

[System Alerts](#)

### Policies

[Terms of Use](#)

[Privacy Policy](#)

[Restricted Data Use](#)

### Our Partners

[Acquisition.gov](#)

[USA Spending.gov](#)

[Grants.gov](#)

[More Partners](#)

### Customer Service

[Help](#)

[Check Entity Status](#)

[Federal Service Desk](#)

**⚠️ WARNING**

This is a U.S. General Services Administration Federal Government computer system that is **"FOR OFFICIAL USE ONLY."** This system is subject to monitoring. Individuals found performing unauthorized activities are subject to disciplinary action including criminal prosecution.

This system contains Controlled Unclassified Information (CUI). All individuals viewing, reproducing or disposing of this information are required to protect it in accordance with 32 CFR Part 2002 and GSA Order CIO 2103.2 CUI Policy.

**SAM.gov**

An official website of the U.S. General Services Administration

